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L Question 1

Definition: Choose 5 out of 6 linguistic terms below, and discuss these terms in details; e.g., in
which linguistic sub-field is the termed defined? What properties do these terms aim to explain?
What are their relevant examples? (30%)

The Innateness Hypothesis

“Arguments” vs. “Adjuncts”

“Compositional” vs. “Non-compositional” meanings
Speech acts

Reinforcement (Stimulus-Response) Theory
Presupposition

AN

1. What are the features and properties of human language that are distinct from those in
animal communication systems? Provide at least three features and corresponding examples
in the discussion. (10%)

IOI.  Inthe following paragraph (Passage 1), for the underlined nouns or noun phrases, determine
whether they are definite or indefinite, and whether they represent new information or old
information. A sample paragraph and answers are given below. (Los Angles Times,

1998/2/16) (10%)
Example: Taking a cue from fans around the world, members of Sam’s Army
M @) €)) “
will do just about anything to call attention to the U.S. soccer team. At the Gold Cup final
G © Q)
between Mexico and the U.S., the Sammers made their presence know with chants and songs.
®) ® (10) aDn

(1) Indefinite-New information (2) Indefinite-New information - (3) Indefinite-New information
(4) Definite-New information (5) Indefinite-New information (6) Definite-New information
(7) Definite-New information (8) Definite-New information (9) Definite-Old information
(10) Definite-Old information (11) Indefinite-New information

Passage1:
Ask John Flynn, the state’s chief information officer, what mischief

the year 2000 computer problem might cause in state computer networks and he begins by
(1) @ 3)
taking a deep breath.... So Flynn and other government officials from throughout the state are
' 4)
planning to convene in Sacramento on Thursday for the state’s first intergovernmental
conference on the year 2000 problem.

Most city, county and state officials have already spent the last few years working on
)
solving the problem, which involves some computer programs’ inability to recognize

(6) |

~ dates beyond Dec. 31, 1999. But even if individual agencies fix their problems internally, many
(7 @®)

government computer systems are interconnected. Welfare data, for example, are passed from
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the county to the federal government. One thing Flynn hopes to accomplish Thursday is the
establishment of standards so that repairs are compatible across different systems.

(10)

IV.  From the articulatory diagrams (A)~(E) provided below, select the diagram that describes
the articulation of each of the following three sounds. (15%)
1. [k]
2. [b]
3. [n]

Y ] . (B) ©

iD R.Mannefl, 2001

© RMannsll, 2009 € R:Mannal, 2001

) E)

& RMannell, 2004

(source: hitp://clas. mq.cdu.awspeccivphonetics/phonetics/consonants/)

V. The passage below explains what “lexical priming” is. Read it and answer the question that
follows. (10%)

Lexical priming refers to the facilitatory (or inhibitory) effect of a lexical item, the prime, on
the activation of a related item, the target. Lexical priming can involve both the meaning and
form of lexical expressions. For instance, people are faster and more accurate in identifying a
word such as dog if the word is preceded by a semantically related item such as cat than if it
is preceded by an unrelated word such as cify. There is also evidence that the phonetic
features of a word affect the activation of phonetically related expressions (that rhyme or
alliterate with the prime) and that repetition speeds up lexical access and word recognition
(Harley 2001: 145-150).

(cited from Diessel, 2017, p. 18)
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‘table’
‘work’
Cman3
‘white’
‘this’
‘line’
‘eyeglasses’
‘shirt’
‘head’
‘box’
Cdrlml’

< age)
‘coat’
‘flower’
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Singular
[ostol]
[munka:f]
[ember]
[fehe:r]
[€2]
Jor]
[semyveg]
[in]

[fey]
[doboz]
[dob]
[kor]
[kobazt]
[vira:g]

1. What type of affix is the Hungarian plural marker? (5%)
2. List all the allomorphs of the plural marker. (4%)
3. State the environment in which each allomorph occurs. (16%)

According to the idea of lexical priming, what English words would you recognize faster
(than some unrelated words) if you just heard flight? Consider both the form and meaning of

Sfight and explain your answer.

VL.  Examine the following Hungarian data and answer the questions below. (25%)

Plural
[ostolok]
[munka:fok]
[emberek]
[fehe:rek]
[ezek]
[Jorok]
[semyvegek]
[inek]
[feyek]
[dobozok]
[dobok]
[korok]
[koba:tok]
[vira:gok]






